
Model Paper Bus iness Math Class (11th )
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1 15 seconds: 3 minutes=

(t il r), -(loo)r =

Note: You have four choices for each objective type question as A,B,C and D. The choice
wh ch you think is correct: fill that circle in front of that question number in your answer
book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will
result no mark.
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Model Paper Bus iness Math Class (11th

Subjective

Tiller lr45 HoEt

Mods: 40

Q.2.Wrltc Short an5wc6 to eny slr {5) qucrtlonr:

(i) Oivlde R5.5O0O0 beween two personi A and 8ln ratlo 5:7,

(ii) Find the value of x ifr:?50::6:50

(iiD lf 55% of a number is 3000, what islhe number.

(iv) Define ordinary annuity and annuity due.

(v) Find the simple interest onRs 5o0OO lff 10 yoars atthe rate ol12olo Per anuuam

(v4 Frnd the value ol x from the eouation 4{ = I

(vii) tind lwo consecLtive integers whos€ sum is 41

{viii) Solve the eqlation by completing squares 11 -5r+6=0

(ix) Oefine reciprocal equation and tive example'

Q.3.wrile short answers to anyrlx (6) quenlontl

(i) Define even fundion 3nd give example'

(ii) rf /(x) = 5r - 1 0' g(r) = 3' +5' then find the vdlues of !f + 8X') and (/ 8Xr)'

( iii) convert (71)ro into bincry system'

{av) SimPlifY (l I ll0l), -(ll l0l)1

(v) convert(l l0 l l)1into decimal system'

t(
)

, then find AB

(bl Find the compound amountfor Rs. 1OO0O payable atthe end of8 yearsatrh. rate 6%

compouaded annually,

Q.5.lal Oraw the Sraph ot y= i _2x-s

(bl Solve the foltowtng simultaneour equatloni

x-Y=2
3x+4y=7

(vi) r^=li i'r),r=

rl
rl

i7 tll*Ils I I

(vii) oefine a non-slnSular matrix 
' 
8lve example'

ll 2l .-[6 8l.tr'entna thevalueof'l-'
(v'ii) rl ,4=|I I l"'-ll --l 1

r',) Find x and /if [r+] ,, l]=[ : l]
Q.4. (a) A juice manufacturer producei3OOO unit5 in a dayemptoyint 15 workerswo*h88

hours, tind lhe numb€r of units manufactuaecl when fhe employs lg worl€rr u/o*tng 6

e.6. (a) tf ,1 = thenfind ,{_r and prove that ,,1,4_r =Il
4
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